Review of Standards 10 & 11

Name: K. &7/
G Z13 and Z10 a = alternate interior angles
) I
O 5. z3and 28 b = alternate exterior angles
'F 3. Z1and £4 ¢ = corresponding angles
0{ 4. Z9and £10 d = consecutive interior angles
€ 5. L14and £16 e = vertical angles
A_ 6. Z11and 26 f = none of the above
C 7. L4 and Z14
_P 5
8. Z1and 215
b 9. Z15 and Z10

i_w. Z9and £6

Ol 1. £Z7and £11
(12) Explain what we mean by the following words when looking at two lines an a transversal:
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(13) If someone wanted to argue that there should be such a thing as “consecutive exterior” angles,
draw a picture of an example of them:
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(14) Write the equation of the line that is parallel to 2x + 6y + 5 = 0 that contains the point (2, -1).
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(15) Write the equation of the line that is perpendicular to 4x - 5y — 1= 0 that contains the point (6, 4)
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(16) A friend argues that since the product of the slopes of a horizontal line and vertical line does not equal -1,

they are not perpendicular. Do you agree with them? Explain.
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(17) Are the slopes of two vertical lines equal? Explain.
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(18) Find the coordinate of point P along the directed line segment AB so that AP to PB has the ratio of 3to 7.
Point A is located at (-2,1) and B is located at (4,-3). How-farisit-betweenax=3y=-24-and-(-1,16)>
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(19) How faris it between 2x — 3y = -24 and (-1,16)?
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(20) The slope of line m is greater than o and less than 1. Write an inequality for the slope of a line perpendicular

to line m. Explain your reasoning.
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HINT: May be helpful to think of the y-intercept as a point with coordinates...

slope lctween (L,9) ana (0 ,10)
_ o= 9 \
= g i
e enqvahon

v eavsy sy

TNV'\'F&V'L L P‘“‘“
- - > 1O

Cexr) =
lex— = “h K %S ¥IS
2 (ka) =y ~1s)?
1 *WM = —x +19
4+ + w
I A\ = 19
3 =15 k=F
3 3

|

P Wwe

wkae 9911
{ \0op o0 . " .
. vewvgratal | S\o¥ -\ |
lo90 0o aff"s\& e, ViAo Y™ <
00 ©
f‘-._-—-.__.__“

i
(21) Find the value of k so the line passes through points (k - 9, k + 7) and (2,9) and has a y-intercept of 10.
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